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B | kv | B | &F Be| &1 BA| &1
U|RC #F wi[ 1| 298 | 118 | 180 | 20 |13.5| 18 |14.5| 20 | 18 | 20 |13.5| 10 | 18 | 16 | 20 | 13 | 20 | 15 [24.5| 10 | 14
2| B | 10|211.5| 31.5| 180 | 10 | 20 | 10 | 18 | 13 | 10 | 10 | 10 | 10 [ 10 | 10 | 18 | 10 | 10 | 10 |12.5| 10 | 10
3| [ A T 7 [252.5| 72.5| 180 |13.5| 10 |14.5| 10 |14.5| 10 | 16 | 10 | 20 [13.5| 10 | 14 | 10 | 18 | 10 |38.5| 10 | 10
4|k oo ET21f 97 7 90 |13.5|13.5| - | 10 | - - - | 10| 10| - - | 10| 10| - - |10 ]| 10| -
509 s | 2| 272 | 102 | 170 |16.5| 10 | 17 | 16 |16.5| 20 | 18 | 20 | 17 [13.5|13.5| 10 | 18 | 10 | - | 36 | 10 | 10
6|4 B il 4| 258 | 78 | 180 | 10 |16.5|14.5[14.5| 10 | 17 | 10 | 18 | 16 | 10 |13.5| 17 | 16 | 10 | 20 | 25 | 10 | 10
T fW mrf16| 168 | 38 | 130 | 10 - 20 | 10 | 10 - - 10| 14 | 10 | 17 | 14 | 17 - - 16 | 10 | 10
s\ W& f|17| 165 | 35 | 130 [13.5| 10 | 10 | 10 | 10 | 10 | 13 [13.5| 14 | - - 16| 12| - - - | 15| 18
9 |7 M i 1| 13[186.5| 46.5| 140 | 18 [13.5[12.5| - [16.5| 10 | 14 | 10 | 14 | 16 | - - |11 |1w0] - | 10|17
o4 F 67| 22| 80 0 80 | 10 | 10 | - - 0| - - | 10| 10| 10| - - 10| - - - |10 -
u|FyRmE|20] 126 | 16 | 110 [ 10 | 10| - | 10| - - | 10| % -]l 10| - | 10|20 |10]10]|x/|10]16
2| A # I | 11|204.5034.5| 170 | 10 | - | 10 | 10 | 12 | 10 | 17 | 10 | 10 | 20 [13.5] 14 | 10 | 10 | 10 | 16 | 10 | 12
Bk #E WT|15[173.5| 13.5| 160 [13.5| 10 | 10 | - 10 10] 10| 10| 1410 - |10 10]10] 14| 12]10] 10
ulfn o s ET| 23| 40 0 40 - - - - - - - | 10| - - - - -1 ]| 1w]| - ]10] -
154 @ HT| 24| 34 4 30 - - - - - - - - - - - - - 10 10 - 14 -
16(FF 1 3R AT 25| 30 0 30 - - - - - - - - - - - - -l 1w ] 1w0]| - | 1w0]| -
|fs f | 3 [262.5[82.5| 180 [16.5] 18 | 10 [12.5] 10 | 12 | 10 | 10 | 10 | 17 [13.5] 10 | 15 | 14 | 13 | 39 | 12 | 20
18 |75 wi|14|177.5 17.5| 160 | 10 |16.5|14.5|12.5| 10 | 10 | 10 | 10 | 10 | * -l 10| 10| 12|12 10| 10| 10
19| 5¢ W oM 19(137.5[ 17.5| 120 | 10 | 10 | * | - 10 | - 10 |13.5] - 0| - 10| 10| 10| 17| - 17 | 10
0% #5 Ti| 9| 214 | 44 | 170 | 10 | 10 | 10 | 20 | 10 | 15| 10 [16.5| 10 | - | 20 | 10 | 10 | 10 | 10 |[1l.5| 18 | 13
21|#& %0 b Ti| 6 |253.5] 73.5| 180 | 10 | 10 | 16 | 17 |14.5| 13 | 15 [13.5| 10 | 10 | 10 | 10 | 10 | 17 | 10 [32.5| 20 | 15
2|% % | 5] 255 | 75 | 180 | 10 |13.5| 10 | 10 | 18 | 16 | 10 | 10 | 18 |13.5| 18 | 10 | 14 | 13 | 16 | 32 | 13 | 10
238 @ | 18] 151 1 150 | 10 | 10 | 10 | 10| 10 | 10 | 10 [ 10 | 10 | 10 | - -]l 10] - | 10| 11| 10] 10
24| 5 #f % Wmr[12]196.5] 16.5| 180 | 10 | 10 | 10 | 10 | 10 | 14 | 10 | 10 | 10 |13.5| 10 | 10 | 10 | 10 | 10 | 19 | 10 | 10
25| M T 26| 20 0 20 - - - - - - - - - - -] 10| - - - |10 -
26|50 fF % | 8 |240.5| 70.5| 170 | 10 | - | 10| 10 | 10 | 10 | 12 |16.5| 10 | 10 | 10 | 14 | 10 | 16 | 18 | 48 | 16 | 10
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